Micro Economics
B.A. Part-1, Paper-1

1.Who said? "Economics is only positive science".
fFaa FgT 2 " HAURA dhad IEafaF [AAT 8|
(A) Hicks - fgerg (B) Marshall - A&l (C) Robbins - Tf§@ (D) Pigou - 99

2. which of the following is not a welfare economist?

fArafaf@a srdereh & ¥ Sl Feaorar) RaRyRT F A 82

(A) J.B.Say-SF.&.& (B) Marshall-ATdfeT  (C) Pigou-ta] (D) Cannon-eTet
3. which of the following statement is true?
ffaf@a & @ Fi7 a1 Fu= 7 82

(A) Human wants are unlimited - AT FT TaTHT 3ded il & |

(B) Means are limited - arereT AT I 8

(C) Alternative use of means. - TITAT T Jhiedeh YA gidT ¢

(D) all of these - SIH T gl

4. Who was the father of Economics?

AT F ST FieT & ?

(A) J.B.Say - S (B) Malthus - HAleuH
(C) Adam Smith - wsH Ay (D) Robbins - RyIEr: )

5. Economics is studied:

AT &7 3reqT fHar Jrar §:

(A) In the forms of Normative science - 3T AT F &I H
(B) In the form of positive science - arEdiaeh [aalel & T H
(C) In the form of science and Art - faamet 3R el & TTH
(D) In the form of only Art - hdol el & &I H

6. "Economics is both Art and Science." This statement is of:

" 1A ST 3R A =t 81" I8 FUeT FuFr ¢
(A) Robinson - et (B) Pigou - Sic))
(C) Keyn's - Frg (D) Prof. Kosha - or. 1R



7. Prof. Robbins Was supporter of: -
. Jfeed e aqads 9:-

(A) Art form of economics - 37IAET & ol h &I H

(B) Science from of economics - INAET & AT F FTH

(C) Both Art and Science from of economics - HATH Fell IR [TAH ST & & H
(D) All of these - SoIH o ol

8. The subject matter of Economics

rdfemeT < fw et €

(A) Consumption - 39T (B) Production - 3cqrest

(C) Exchange - CIGEES (D) All of these - SoTH O T8l

9. According to Prof. Adam Smith Economics is:

W T PAY & AR e

(A) Science of welfare - ®eaT0T & [T &

(B) Science of wealth - &1 &7 faaTT &

(C) Science of welfare and wealth - SeJT0T T &1 &lei T AT &
(D) All of these -SoTH & Tt

10. Economics is a science because:

IFARA T e § it

(A) Because of systematic study of facts -

STH LT & shAdeY AEIIA fhaT ST &

(B) Principles of economics establish relationship between cause and effect —

37T & AIH HROT 3R gRomH # greey eiRg s §
(C) Both (A) and (B) - 3ud[ad k=il (A) 31K (B)
(D) None of these - 318 & IS 8T

11. Consumer behaviour is studied in: -
3UNFAT SYGER T ACII fHIT SATaT & -

(A) In Micro Economics - & 3JeMET #  (B) In Income Theory - 3 faeelwor #
(C) In Macro Economics - HHSE 319mET & (D) None of the above - 3TRIFd H A IS AGT

12. Micro Economics includes:

safle sreferes F wienfaa e ¥

(A) Individual unit - SafFdeTd SHIS

(B) Small unit - BI-BIC T

(C) Individual price determination - safFdaTd He forefiwor
(D) All of above - 3T T



13. 'Micros' which means small belong to:

‘AT TTT 319 gYar § aler, A & wla-ar aeg €72

(A) Arabic word- 3RsT 2Teg (B) Greek word - 3 2leg,
(C) German word - 31377 2Ts¢, (D) English word- 3f3er2r 2T

14. The word 'Micro and Macro' was firstly used by:
T ggo 'ABH! AR AFr e FTRT RS A & 2

(A) Marshall - AT (B) Boulding - sifesger

(C) Keynes - =8 (D) Ragner frish - Y3=X fper

15. National income is studied in:
TSERT 3T T eI FohT SATT 7

(A) In Micro Economics - & 3JET #  (B) In Macro Economics - HHTSE 31eme
(C) Both A and B - A3 B @it & (D) None of these - 318 ¥ IS aTal

16. Which of the following is called price theory:

farafaf@a # & B g Rguia ot Fa1 smar &:

(A) Micro Economics - SgT8¢ 3iRMET &I (B) Macro Economics - THTSE 31emeT i
(C) Both A and B — A 3iR B gt &l (D) None of these - 35 & $IS G

17. Which of the following is called Income and Employment theory:

feafaf@a # & e 3ma sik Ao Rigera st #s1 smaT &:

(A) Micro Economics - eafSe 3remET &1 (B) Macro Economics - HHTSE 31T &t
(C) Both A and B - A3iR B =T &t (D) None of these - 378 & IS 8T

18. Who is the writer of book 'Principles of Economics'?

RiffTew 3T seEATT [FdF & aGF Fid o2

(A) Malthus - ATeaH (B) Robbinson - IfaegsT
(C) Marshall - #TTer (D) Prof. Pigou - SY. die[

19. Who is called the father of Modern Macro Economics?

3y FATRE I T St frd &gt STt 872

(A) Malthus-HATead (B) Marks -HTEFT

(C) Keynes &g (D) Sismandi — F&&#ar

20. Keynes was a supporter of which ideology?

Hed 5 farRymT & gad+ a7

(A) Macro Economics - EHTSE 3T (B) Micro Economics - eI 32T

(C) Both A and B - A3IR B gl=it (D) None of these - 3T & &g sTal



21. Which of the following is not studied in Micro Economics:
fArafaf@a # ¥ fraer sregaa cafe srdarea # ¢ o srar &:

(A) Law of Demand - HTIT & AHT sl

(B) Principle of Wage - HsTgdl & et &

(C) Principle of Interest - sTTST & fAgwTd &

(D)Principle of Income and Employment - 313 Td (ST & fAeHTd &

22. Who is the writer of "The General Theory of Employment, Interest and Money"?
"& STetel AR HH TFArIAE, T US Hell" Yeas 1 fadrest fraar fFar?

(A) Marshall - AT (B) Keynes &8

(C) Pigou - 9 (D) Hicks — fgF&

23. The subject Matter of economics is being studied under which branches-

ke Y AT T IeTeT bt @t & siereter AT ST @ d-
(A) Micro Economics - ST 312Rmes (B) Macro Economics - GHTSE 3T2Rme
(C) Above two - IIRIFd aler (D) None of these - 313 ¥ HIS T8l

24. Which of the following is studied in Macro Economics.

frafaf@a # ¥ fraer sregaa gAfSe s # frar s @:
(A) Principle of Distribution - HI3T & fagTd &

(B) Principle of Price - #1edI & THEHITd sl

(C) Theory of Trade cycle - SR sk & AU

(C) None of the above - 3Ted IS &1

25. What is Growth Economics?

s srefemes Rl et Sirar 82
(A) Micro Economics - eIfSe 312emes (B) Macro Economics - IS 312emes
(C) Above two - 39aFd alat (D) None of the above - 390ad & & FIS g1

26. Who is the writer of book 'How to pay for war'?

T3 E T BN IR T&d & AT &

(A) Prof. Keynes -9Y. &ed (B) Prof. Hicks — 9I. fgar@r
(C) Prof. Marshall - 9t. #TTer (D) Prof. Malthus - Y. ATl

27. Consumption function and Investment function are the subjects of-

3INHIT BereT AR AT worer e v §2
(A) Macro Economics -FHTSe 3rfemes (B) Micro Economics - T8¢ 312TRmes
(C) Above two - 3IRIed gt (D) None of the above - 39RIFd & & FIS =TT



28. Which of the following is not Classical Economist?

farfaf@a & ¥ i yfaaa srdemeht sigt &2
(A) Adam Smith - TsH [&AY (B) Malthus - AT
(C) Ricardo - Rersf (D) Marshall — &1

29. The analysis of Classical economists mainly is:

yfaftsa srdemeiat #1 faeervor geaa: §:

(A) Macro Analysis - FHASCR fa2elwoT  (B) Micro Analysis - cgScueh fagelyor

(C) Above two - IR alat (D) None of the above - 39RIad & & HIg g1

30. The analysis of the Neo-classical economists mainly is:

79 yfaftsa srdemeiat #1 fReevor geaa: &

(A) Micro Analysis - SIfScqien fageyor (B) Macro Analysis - HHTSCUeh faelyor
(C) Above two - 3URIFd alar (D) None of the above - 39RIFd & & FIS TgT

31.Who propounded the words Static and Dynamic in economics:

ey & Tfaw 30T A st w1 wyfawfea frae fFan
(A) Marshall - AT (B) Pigou - faa]
(C) J. S. Mill - St.ug. &aT (D) Adam Smith - TsH f&AY

32. What is meaning of static economics?

T 3reemeT 1 I

(A) Position of rest - fasmT & fRafa

(B) Position of regular movement - f@af&a arfa & feufa
(C) Position of change - aRadeT & fFufa

(D) None of these - 375 & PIS AdT

33. Need of dating is not in:

fareftaror #Y sraeaFar 7€t g ¥
(A) In Static economics - Tfae 31TMET A (B) In Dynamic economics - AT 372emeT &
(C) Inboth A& B - AR Be=t & (D) None of these - 3131 & IS =Tg1

34. Point of time is related to:

THY-feg 1w g

(A) In Static economics - Tfae® 3T & (B) In Dynamic economics - Tafare 3rdemes &
(C) Inboth A& B -A 3R Ba=AT & (D) None of these - 38 & $IS G



35. Period of time is related to:

AT Y At 1 T §:
(A) In Dynamic economics - T3 372remes (B) In Static economics - Tdfae 3reeme
(C)InbothA&B-A3RBa=AT& (D) None of these - 378 & IS 8T

36. Which of the following is not the main feature of Dynamic economics, Because in
it-
frafaf@a & & Fia mdfare srderes i e Ravar 78 8 Fifr sa

(A)There is a need of dating - Tr2fIeRoT T 3TaRIFAT BT &
(B) There is a continuous change in rate of production —

IcUTEe &I &3 3 FeT IRTT gt Eem &
(C) There is uncertainty - 3ifARagar g g
(D) There is no prediction - #fasgarof s1gT gidr g

37. Which of the following is not a main feature of Static economics?

frafaf@a # & sl vifaw srfares 1 g7 v adi 32

(A)There is a need of dating - T2 eRoT ¥ 3TaRTFAT BT &

(B) There is regularity and certainty in economy—

3regaeer # fafadr va ARaaargidrg

(C) The rate of production does not change — 3cdTesT &t &3 & IRTdT Ty BlaT &
(D) None of the above - 39RFd & & HIS g1

38. Examples of "trees in the forest" are:
"SiaTer H g&T" 3ETEOT 8-

(A) of Static economics - XA 31T T

(B) of Dynamic economics - 93T 3721emEs &r
(C) of both A & B - A 3iR B gt &r

(D) none of the above - 3TRIeFd H ¥ IS AT

39. A studied of process of change is related to?

qRadsl Y 9FRaT 1 3reaae R gaferd 82
(A) In Static economics - Tfae 31 ¥mET & (B) In Dynamic economics - Irafaes 3r¢remes &

(C) Inboth A& B - A3R Ba=AT & (D) None of the above - 39RFd & & HIS TgT
40. Dynamic analysis is:

urdfore freeryor ghar &:

(A) More elastic - 31f8e @IER (B) Less elastic - & @GR

(C) Both of the above - 3WRIFd gt (D) None of these - 3131 & SIS sTaT






